

## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/9/2025 7:42:26 PM

				General De	etails				
Parcel ID:	387	-0090-0052	20						
Document:	Abs	Abstract - 1053546							
Document Date	e:05/	23/2007							
			Leg	al Description	on Details				
Plat Name:	BF		νT						
Sec	ction	Τον	wnship	F	Range		Lot	:	Block
	-		-		-		-		-
Description:	LC	TS 52 AND	53						
				Taxpayer D	etails				
Taxpayer Name BROWN DONALE									
and Address:		POINT RD							
	то	WER MN 5	5790						
				Owner De	tails				
Owner Name	BR	OWN DONA	ALD J						
			Paya	ble 2025 Ta	x Summary				
		Тах			\$4	4,307.00			
2025 - Specia			cial Assessmer	Assessments \$85.00					
2025 - Tot			otal Tax & S	x & Special Assessments \$4,392.00					
			Curren	t Tax Due (a	s of 5/8/2025	)			
	Due May 15		1	Due Octo	ber 15	- T		Total Due	
2025 - 1st Half Tax \$2,196.00			2025 - 2n	2025 - 2nd Half Tax \$2,196.00			2025 - 1st Half Tax Due \$2,196.00		
2025 - 1st Ha	lif Tax Paid	\$0.00	2025 - 2n	2025 - 2nd Half Tax Paid \$0.00			2025 - 2nd Half Tax Due \$2,		\$2,196.00
2025 - 1st Ha	alf Due	\$2,196.00	2025 - 2n	2025 - 2nd Half Due \$2,196.00			2025 - 1	Fotal Due	\$4,392.00
			•	Parcel De	tails				
Property Addre	ess: 342	3 BREEZY	POINT RD, TO	WER MN					
School District	:: 214	2							
Tax Increment	District: -								
Property/Home	esteader: BR	OWN, DON							
				•	25 Payable 2				
	Homestead Status	ł	Land EMV	Bldg EMV	Total EMV	Def L EN	.and IV	Def Bldg EMV	Net Tax Capacity
Class Code (Legend)		ad	\$286,300	\$317,400	\$603,700	\$0		\$0	-
Class Code (Legend) 203	1 - Owner Homeste							\$0	
(Legend)	1 - Owner Homeste (100.00% total)	Total:	\$286,300	\$317,400	\$603,700	\$0			6296



## PROPERTY DETAILS REPORT





			Land De	tails				
Deeded Acres:	0.00		Lund D	Auno				
Waterfront:	VERMILION							
Nater Front Feet:	222.00							
Nater Code & Desc:	-							
Gas Code & Desc:	-							
Sewer Code & Desc:	S - ON-SITE SA	NITARY SYSTI	EM					
_ot Width:	0.00							
Lot Depth:	0.00							
The dimensions shown are r https://apps.stlouiscountymn	not guaranteed to be s .gov/webPlatsIframe/	survey quality. A frmPlatStatPop	Additional lot Up.aspx. If th	information can be here are any quest	e found at ions, please email PropertyT	ax@stlouiscountymn.gov		
		Improve	ement 1 D	etails (CABIN	)			
Improvement Type	Year Built	Year Built Main F		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
HOUSE	0	1,22	28	1,676	-	1S+ - 1+ STORY		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	26	30	780	FOUNDAT	ΓΙΟΝ		
BAS	2	16	28	448	FOUNDAT	ΓΙΟΝ		
DK	0	4	8	32	POST ON G	ROUND		
DK	0	4	18	72	POST ON G	ROUND		
DK	0	7	14	98	<u>-</u>			
DK	0	8	16	128	POST ON G	ROUND		
DK	0	8	34	272	POST ON G			
OP	0	6	8	48	POST ON G			
Bath Count	Bedroom Co		Room C		Fireplace Count	HVAC		
			Room C	ount	•	-		
1.25 BATHS	2 BEDROOM		-			CENTRAL, ELECTRIC		
1	Maran Daville	-		tails (GARAG				
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GARAGE	1990	86		864	-	DETACHED		
Segment	Story	Width	Length	Area	Foundat	-		
BAS	1	24	36	864	FLOATING			
CNX	1	4	8	32	POST ON G	ROUND		
		Improver	ment 3 De	tails (GAZEB	<b>)</b>			
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area I		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GAZEBO	0	13	0	130	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	10	13	130	FLOATING	SLAB		
		Improvem	ent 4 Deta	ils (BARREL	SA)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
BARREL SAUNA	0	40		40	-			
Segment	Story	Width	Length	Area	- Foundat	ion		
BAS	0	5	8	40	POST ON G			
DKX	0	5 4	8	40 32	POST ON G			
	-							
DKX	0	6	6	36	POST ON G			



## **PROPERTY DETAILS REPORT**





Date of Report: 5/9/2025 7:42:26 PM

		Improver	nent 5 Deta	ils (10X20 SA)				
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gi	ross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style C	ode & Desc	
SAUNA	0	20	0	200	-		-	
Segmen	t Story	Width	Width Length		Founda	ation		
BAS 1		10 20		200	POST ON (	GROUND		
		Improv	ement 6 De	tails (SHED)				
Improvement Type Year Built		Main Floor Ft <sup>2</sup>		ross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style C	Style Code & Desc	
STORAGE BUILDIN	G 0	10	0	100	-		-	
Segmen	Segment Story		Length	Area	Founda	ation		
BAS	1	10	10	100	POST ON (	BROUND		
		Improv	ement 7 De	tails (SHED)				
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gi	ross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style C	ode & Desc	
STORAGE BUILDIN	G 0	35	5	35	-		-	
Segmen	Segment Story Width Length Area			Foundation				
BAS	1	5	7	35	POST ON (	ROUND		
		Improve	nent 8 Deta	ils (FAB CPT)				
Improvement Type Year Built		Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish Style Code & De				
STORAGE BUILDIN	G 0	288		288	-		-	
Segment Story		Width	5		Foundation			
BAS	1	12	24	288	POST ON (	ROUND		
		Improveme	nt 9 Details	(PATIO@LAK	E)			
Improvement Type	e Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish		Style Code & Desc				
	2021	20	0	200	-	STN -	STONE	
Segmen	t Story	Width	Length	Area	Foundation			
BAS	0	0	0	200	-			
	Sa	les Reported	to the St. L	ouis County A	uditor			
Sale Date		Purchase Price		CRV Number				
05/	/2007		\$655,000	)	177437			
		As	ssessment	History				
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Tota EM		Def Bldg EMV	Net Tax Capacit	
leal	203	\$276,300	\$302,30			\$0		
2024 Payable 2025	Total	\$276,300	\$302,30			\$0	5,983.0	
	203	\$276,300	\$302,30	0 \$578,6		\$0	-	
2023 Payable 2024	Total	\$276,300	\$302,30			\$0	5,983.0	
	203	\$253,900	\$275,10	0 \$529,0	000 \$0	\$0	-	
2022 Payable 2023	Total	\$253,900	\$275,10			\$0	5,363.0	
, I								
2021 Payable 2022	203	\$233,700	\$220,50	00 \$454,2	200 \$0	\$0	-	



St. Louis County, Minnesota



	Tax Detail History										
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV					
2024	\$4,649.00	\$85.00	\$4,734.00	\$276,300	\$302,300	\$578,600					
2023	\$4,441.00	\$85.00	\$4,526.00	\$253,900	\$275,100	\$529,000					
2022	\$4,233.00	\$85.00	\$4,318.00	\$233,700	\$220,500	\$454,200					

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.